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Answer any five questions
& All questions carry equal marks

; geat diagram, explain the text normalization process.
b)  Discuss thefgegg®h Capabilities in detail. [7+8]

2.a)  What new areas ation retrieval research may be important to support a Digital
Library? Explai

b)  Write the difference be@a a retrieval and information retrieval. [8+7]

Butomatic indexing and list the advantages and
eX| [15]

4.a)  Explain the History and Objectives ofgfidexing.
b)  Describe the Hypertext and XML Data Structys. [7+8]

5. Prove that a term could not be found in mul@l rs when using the single link
technique. [15]

6. What are the tradeoffs in the use of zoning as part of the Nex

7.a)  Explain about weighted searches of Boolean systems.
b)  Explain about cognition and perception in information visualiz s [7+8]

8.a)  Discuss the Non-Speech Audio Retrieval. /
b)  Explain the software text search algorithms in detail. O/Z%]
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INFORMATION RETRIEVAL SYSTEMS
(Computer Science and Engineering)

me 0 Max. Marks: 75
Note: i) stiongpaper consists of Part A, Part B.
i) Part compulsory, which carries 25 marks. In Part A, Answer all questions.
iii) In er any one question from each unit. Each question carries 10 marks

and a, b as sub questions.
PART - A
(25 Marks)
1.a) Define recall. [2]
b)  What are the search capabiw an IDS? [3]
c)  What is meant by public in [2]
d)  What is the basis for concept in [3]
e)  What is logarithmetic term frequ [2]
f)  List the steps in the clustering proce [3]
g) What is the impact of relevance feedbaCk on sggegh? [2]

h)  What is statistical system binding? [3]
i)  List the functions supported by Fast Data ¥ [2]

J)  What are the five elements of finite state auto in text searching algorithms?
e > 3]

PART -B

@/\ (50 Marks)

2. Describe the item normalization process of information retrieval s@n detail. [10]

OR
3.a)  Discuss the limitations of term masking.
b)  Compare natural language queries with multimedia queries. @]
4.a) Illustrate the two processes associated with information extraction.
b)  Demonstrate multimedia indexing.
OR
5.a) Make a comparison of dictionary look-up stemmers and successor stemmers.
b)  How to create a PAT tree? Explain with example data. [5+5]
6. Explain the need and importance of weighting scheme for automatic indexing and the
problems associated with the weighting scheme. [10]

OR



Consider the following term-term matrix:
T1 T2 T3 T4 T5 T6
T1 15 6 8 12 14

(/ T2 15 12 10 6 8
T3 6 12 16 4 10

T4 8 10 16 9 4

T5 12 6 4 9 13

8.a)
9.2)
b)

10.

11.a)

6 14 8 10 4 13

a) Det@gmin

b) Dete e
c) Determi
seed for the nex

egerm Relationship matrix using a threshold of 10 or higher

ers using the star technique where the term selected for the new
r is thgysmallest number term nor already part of a class.  [2+4+4]

Compare and contras@accagg’Mmeasure with Dice measure for similarity.

Discuss the significan &ive feedback in ranking the documents. [5+5]
OR

Explain the potential ambigh e of relevance feedback on hypertext documents.

Briefly describe the aspects of t jzation process. [5+5]

Demonstrate Boyre-Moore Algorith e following scenario, explain each step.

String to be searched: abcac

Input String: ababdcabcdacabcac [10]

O
Discuss the predominant features of still imag@t an be used in content based
indexing. b

Describe the features of Sagebook for graph retrievaf. @ [5+5]
---00000--- 0
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